C:# Division vertical con ayuda de cuadricula

Nombre;

Resuelve cada problema.

1)
389222

4)

6311071

7)

463677

2)

46|19568

5)

6113050

8)

7414046

3)

6)

9)

8819240

377951

30(11691

Respuestas
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Division vertical con ayuda de cuadricula

Nombre: Clave De Respuestas

Resuelve cada problema.

1) 242126

3819222

0

92

76

162

152

102
76
26

4) 17
63|1071
0
10
0
107
63
441
441

0

7) 79143

463677

0

36
0

367

322

457
414

43

2) 208
46|9568
0

95

92

36

0
368
368
0

5) 50
61/3050
0

30

0

305

305
00
0

0

8) 5450
7414046
0
40
0
404
370
346
296
50

3) 105
8819240
0

92

88

44

0
440
440
0

6) 214r33
37(7951
0
79
74
55
37
181
148
33

9) 56111
30(1691
0
16
0
169
150
191
180
11

Respuestas

242 1 26

208

105

17

50

214 r 33

79r43

54 r50

56rl1l
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Division vertical con ayuda de cuadricula

Nombre;

Resuelve cada problema.

Respuestas

54 150 17 56 r1l 242 126 105 214 r33
79 r43 208 50
1) 2) 3)
38|9222 46|19568 8819240
4) 5) 6)
63(1071 61(3050 37|7951
7) 8) 9

463677

74|4046

30(11691
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